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o PV GT BV T [F 59 49797 7 FRa g 32 79§97 35 &

Please make sure that the printed pages in this question paper are 32 in number
and it contains 35 questions.

o Jo7-7¥ H aled &ry @ G RF 78 FS T T 6 F O FI-YRawE & FEI-g8 T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

o YT FIT P TV [VGT @ FXT G Yee, FIT H HHIH T [ord

Before beginning to answer a question, its Serial Number must be written.

o JUT-YiTHE & i H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.
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o FUCYRTHE F FaRkET 2 o e T& Al o savamagar & fhid st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETE Tl AT To FoT-TH T Haeq [i@ W To F HARFT FIT-YH G T FE A T
ford oife dmloues o7t & I GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 IF GAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
G § 25 4 @ w@hwre Tl A aam
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

A R
(i) Fo7-7F & Z7T 35 797 &1
(@) T geT Sad &
(iii) T F97-YF YT @Us & [FfT & : gue-o], G-, GUe-q, GUE-3 T GUS-7)
(iv) GUE-9 ¥ SeTE (1-18) TEGITT J97 81 J9% H97 1 7% T &1
(v) @UE-F 7 GIT (19-25) FITg FTNT F97 &1 T9% F97 2 STl #T 81
(vi) GE-F 7 i (26-30) TJ FTOT Fo7 &1 F9% F97 3 ST F 81
(vii) GUE-§ 7 & (31 732) HF TeFTT HHX & F97 &/ FAF 97 4 SF # &1
(viii) GUE-F & 7 (33-35) &7 FTHT 797 81 q9F F97 5 3H H 8
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(ix) 797 97 § &5 777 &7 @ 3 [acy 78 &1 7oy que-g 7 § g97 5, @ve-g 7 q
g7t 4 @e-g & @l gt 7 aer @ve-g § di g7 7 onaliw fwew Ry 8 57
qg g7l § @ oyl HacT T & 97 FHeAr 8
(x) S7F TAEH F FAT T &

General Instructions :
() There are 35 questions in all.
(i) All questions are compulsory.
(ii) This question paper is divided into five Sections : A, B, C, D and E.

(iv) Section-A consist of eighteen (1-18) objective type questions, each of

1 mark.

(v) Section-B consist of seven (19-25) very short answer type questions, each of

2 marks.

(vi)) Section-C consist of five (26-30) short answer type questions, each of

3 marks.

(vii) Section-D consist of two (31 & 32) case study type questions, each of

4 marks.

(viii) Section-E consist of three (33-35) long answer type questions, each of

5 marks.
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(ix) There is no overall choice. However an internal choice has been provided in
Section-B two questions, Section-C two questions, Section-D both questions

and Section-E all three questions. You have to attempt only one of the given

choices in such questions.

(x) Use of calculator is not permitted.

gue - A
SECTION-A

[ TGS 9% ]

[ Objective Type Questions ]

[=ifeiE Gglamediq g9 % @&l lawed giag -
Select the correct option of the following multiple choice questions :
1. =70 Rei® (Ku) ® 99 : 1
(A) TN T B T SEdl
(B) T S+ & @Y 9 Bl &
(C) Rer & 2
(D) Ued el & Y gedl 8
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The value of Henry's constant Ky :

(A) Increases with increase in temperature
(B) Decreases with increase in temperature
(C) Remains constant

(D) First increases, then decreases

2. Ffafed § § SF-91 B-9e 9o gaR )X & dofed fhar s ge § ? 1
(A) e Ba
(B) [ Bo

(C) e+ Be
(D) e B2

Which of the following B-Group vitamin can be stored in our body ?
(A) Vitamin B,

(B) Vitamin B>

(C) Vitamin Be

(D) Vitamin B2
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3. A< O U dgd A o & GAF B FA 8, 9 1

(A) Egx=0

(B) Ex > Eqm

(C) Eaqm > Eq

(D) Egg = Eqm

An electrochemical cell can behave like an electrolytic cell, when :

(A) Ecen = 0

(B) Ecell > Eext

(C) Eext > Ecell

(D) Ecel = Eext

4. v9 fruEd UHH, TEEE ORI | SRl H 8, f d-dl 9 FHE et 5 ? 1
(A) NH; B) N
(C) H (D) Co2Hs

The gas evolved when methyl amine reacts with nitrous acid is :
(A) NHs B) M

€) H (D) C:2Hs
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5. {5l aIffhar & E. & TOFT @ o g B - 1

(A) a7 Reiss $1 AF T X AT W AT A A

(B) T Rerieh &l A & ST QAN WX A B H

(C) THTE & GHET &

(D) IER® & 999 9

Activation energy of a chemical reaction can be determined by :
(A) determining the rate constant at standard temperature

(B) determining the rate constant at two temperatures

(C) determining probability of collision

(D) wusing catalyst

6. N ¥ ¥ B9 e etk welia 7w E ? 1
o O
CH3
®) <E>_CHO

(C) HCHO

(D) CH3;CHO
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Cannizaro's reaction is not given by :
CHO

v Ox
CH>

(C) HCHO
(D) CH;CHO

7. A @G qEH § KMnO, WCREH TRAISES & fheH gRafid &3l © ? 1
@A) I (B) 10"
(C) 103 (D) IO

When alkaline KMnO, is treated with KI, iodide ion is oxidized to :

(A) I (B) IO~
(C) 105 (D) IO;
8. frfafad & @ waq e o=l & 8 7 1
(A) ITEA Thied
(B) WERilera
(C) et
(D) m-FARIAA
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Which of the following is most acidic ?
(A) Benzyl alcohol

(B) Cyclohexanol

(C) Phenol

(D) m-Chlorophenol

9. fped &7 fauled CFSE ST<®a® [CoClg|*™ & [T 18,000 cm! B, T Igsead fheed
&9 [CoCl,]*~ & fow 1 &m ? 1

(A) 18,000 cm!

(B) 16,000 cm-!

(C) 8,000 cm!

(D) 20,000 cm!

The CFSE for octahedral [CoCl6]4_ is 18,000 cml. The CFSE for tetrahedral
[CoCl, >~ will be :

(A) 18,000 cm!

(B) 16,000 cm!

(C) 8,000 cm!

(D) 20,000 cm!
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10. IMERA () FRES H JURAG § e, oo | ABRAT &< offel aen 0 &ar A
SR B, T SRR © 1

(A)  FAFIET foreae etk
(B) gorgivRAT Sicreeras atfisham
(C) TRl Sfcreemd= safdfsean
(D) RGN RTST SAfishaT

Toluene reacts with a halogen in the presence of iron (III) chloride giving ortho

and para halo compounds, the reaction is :
(A) Electrophillic elimination reaction

(B) Electrophillic substitution reaction

(C) Nucleophillic substitution reaction

(D) Nucleophillic addition reaction

11. 0.01 M &S fawae &l o § 0.01 M MgCl fa@as &1 f&Hi® & STa=w 1
(A) T ST T
(B) I B
(C) & om B
(D) ¥R IO &R
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In comparison to a 0.01 M solution of glucose, the depression in the freezing

point of 0.01 M MgCL solution is :
(A) remains same

(B) about twice

(C) about three times

(D) about four times

12. BRI A + 2B — C & G, & = K[A] [B] 81 B &I Higdl g B W q7 [A] & Fizan

TN @M W, a7 s 9 1 99| 987 ¢ 1
(A) THE @MW
(B) T &m
(C) ¥R IO &R

(D) ST ¥& ST

Rate law for the reaction A + 2B — C is found to be Rate = KJ[A] [B].
Concentration of reactant B is doubled keeping the concentration of A constant,

the value of rate constant will be :
(A) the same

(B) doubled

(C) quadroupled

(D) halved
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13. WAHIGE @ G HiF-dl AR ey Bt § 7

(A) +2 (B) +3
(C) +4 (D) +5
Which of the following oxidation state is common for all lanthanoids ?
(A) +2 (B) +3

(€) +4 (D) +5

14. SRS S THieN o dafcsese aMl @ Sfabkar 78 &3 & ¢

(A) |Ifeg BEZH FAEHES

(B) fEd BRENIM

(C) I Hicgs™=

(D) e STfoepHS

The reagent which does not react with both acetone and benzaldehyde :
(A) NaHSOs

(B) Phenyl hydrazine

(C) Fehling solution

(D) Tollen's reagent
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797 G 15 T 18 3 fw @ YT RU 70 & - W¥FGT [ A ] T BT [ R |, FF7 & T8HT
#1974 74 & (A), (B), (C), (D) ¥ & F97 T @&l FwT g7 -

For Question Numbers 15 to 18 given below consists of two statements labelled as
Assertion [ A | and Reason [ R |. Read the statements and select the most appropriate

answer from the Codes (A), (B), (C), (D) :

15. R [A] : 9§ NaCl ® g1 8§ Famn S 2, o fnie § uh ofaq e I8 S &l
T [R] : el 917 & T & &9 A e | feHids | fawwe el &l

BT - 1
(A) [A] T [R] 3 & & S [R], [A] ¥ §& AR &

(B) [A] @ [R] 39! € &, Al [R], [A] & T& A& & 2
(C) [A] T ¥, afh [R] T&d 2l

(D) [A] TG B, AT [R] T Bl

Assertion [A] : When NaCl is added to water, a depression in freezing point is

observed.

Reason [R] : The lowering of vapour pressure of a solution causes depression

in the freezing point.
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Code :

(A) Both [A] and [R] are true and [R] is the correct explanation of [A].

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

16. RMEHYA [A] : MXe T MXsL §F o X T L ThEgR forre &, s aHegadr et
ERIT

SR [R] : SOHAE d9E@Ed S AN § 6l il S PEal Sugedde g
6 Bl

FE : 1
(A) [A] @ [R] a1 9 § X [R], [A] & @& e B

(B) [A] @ [R] a1 @ B, qAfhT [R], [A] & T& =ren -8t 2

(C) [A] ¥ &, df [R] T &I

(D) [A] TQ &, QAfT [R] T B
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Assertion [A] : Complexes of MXs and MXsL type [X and L are unidentate] do

not show geometrical isomerism.

Reason [R] : Geometrical isomerism is not shown by the complexes of

coordination number 6.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

17. A [A] : T9F Ucsha @8 & o Qfesha Samgst @l Faeish =1 TR & gedl @ ¢
RI> RBr> RCl > RF

FRO [R] : TR RIS, TEped SMES, q91 UGhEd STHISEE & Faoish, TqM SN

il BIERIEET o STE SR S|
FE : 1
(A) [A] @ [R] @ 9 € SR [R], [A] ® 9 e R
(B) [A] @ [R] @91 € 8, Al [R], [A] & T& e & 2
(C) [A] ¥ &, df [R] T &I
(D) [A] T4 &, QAfT [R] T B
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Assertion [A] : The boiling point of alkyl halides decreases in the order

RI> RBr > RCl > RF for same alkyl group.

Reason [R] : The boiling point of alkyl halide having chloride, bromide and
iodides are higher than that of the hydrocarbon of comparable

molecular mass.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].

(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

18. YA [A] : HIHCSERS Th THAE o1 B
PR [R] : $99 sp? THRT HEA TCA BNl 8|
FE : 1
(A) [A] @ [R] @9 9 € SR [R], [A] ® T &= R
(B) [A] @ [R] a1 @ B, qAfhT [R], [A] & T& e &t 2
(C) [A] ¥F B, Al [R] T 2

(D) [A] TG B, AT [R] T Bl
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Assertion [A] : Formaldehyde is a planar molecule.

Reason [R] : It contains sp? hybridized carbon atom.

Code :

(A) Both [A] and [R] are true and [R] is the correct explanation of [A].

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

guE -

SECTION - B

[ SAfeeTg SA0E 99 |

[ Very Short Answer Type Questions ]

19. W &l HE WX fagiiBior & 1 T9 8l 8 7 2

What is the effect of denaturation on the structure of proteins ?
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20. SO,Cl, & Ul URFE A= & el 7 & Ao 23 & 60 fee & 999 &Iar &1 Ik

21.

TR T Hife I &1, O AT ReRi® &l oM Hifo) 2

Time required to decompose SO,Cl, to half of its initial amount is 60 minutes. If
the decomposition is a first order reaction, then calculate the rate constant of

the reaction.

YqT

OR

R — P 31f¥ikar & forw o1l & gigar 0.03 M @ 25 fiFe & uRafdd 2%t 0.02 M &
S g1 NG O B TN e g 8§ i 2

For the reaction R — P the concentration of a reactant changes from 0.03 M to
0.02 M in 25 minutes. Calculate the average rate of reaction using units of time

in minutes.

Fr=1 dgett & [UPAC 9 ot - 2
()  [ColNHs)sCOs]Cl

(i) K3[Fe(Cy04)s3]

Write the IUPAC name of the following coordination compounds :

()  [ColNHs)sCOs]Cl

(i) Kg[Fe(Cy04)3]

1230/(Set : A)
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23.

(19) 1230/(Set : A)
1 BT B, I 2

(@) 9 o A SuRafy A AR AWEE @ e G & 3 ¥ ?
(b) TR FAONES H AR Tiig KOH § &t 8 7
What happens, when :

(@) Methyl bromide is treated with sodium in the presence of dry ether ?

(b) Ethyl chloride is treated with aqueous KOH ?

frriciie sAfisharetl | U1 SerEl 1 STgHA sy 2
OC>Hs
(i) + HBr —

(11) (CHs)SC_OCQHS + HI—

Estimate the products obtained from the following reactions :
OCHs

() + HBr —

(11) (CH3)3C—OC2H5 + HI—

ST

OR
HHERY 6 awi9 g @ IS OH §YE I8 IAdeiRrll SR T & O &8 @fpd i
g7 2

Explain how does OH group attached to a carbon of benzene ring activate it

towards electrophillic substitution reaction.

1230/(Set : A) P.T.O.
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24. = e § A qor B &) | A ¢

25.

NaNOo + HCl
273K

C6H5N02 Fe /| HCI A

Give the structure of A and B in the following reaction :

Fe [ HCI A NaNO9 +HCI

CeHsNO, 73K

Frefeea saie A & el | SiF-a1 AR SN2 Sffear digar & 3 ?

CHS
|
() CHyCHy CH-CH; 9 CHy=C - Br
Br CH3

CH, CHy

: A)

Which alkyl halide from the following pair would you expect to react more

rapidly by SN 2 mechanism ?

CH>
|
(1) CH3CH2 (FH—CHS or CH3—C—BT
|
Br CHj

(i) CHj; - ICH -CH, -CH,Br or CH;-CH, - ICH -CH, Br
CH, CH,

1230/(Set : A)
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gus - |
SECTION - C
[ @ ST 99 |

[ Short Answer Type Questions ]

26. WY 6 Tom Hiic H ANCH § 99% ARAHAT IO 8 § & THI 90% ARAHAT T &
4 @M A &9 A B ol 3

For the first order reaction show that the time required for 99% completion of

first order reaction is twice the time required for the completion of 90%.

27. WEA 9 & Y JIA I AIHCT T oG AGT SUECH H A ARl F F& gRac
M & P A g 3

Explain the variation of molar conductivity of a strong electrolyte and weak

electrolyte with concentration through graph.

28. fHfRad aRad=l @ fFe YR fhar o o ® ? 3
() ST - SNe-2-3ifd

(i) T FAREE — AfT TehEd
(iii) TR TR RS — MuE-1-31|
1230/(Set : A) P.T.O.
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(22) 1230/(Set : A)

Convert :
(i) Propene into Propan-2-ol
(i) Benzyl Chloride into Benzyl Alcohol

(iii) Ethyl Magnesium Chloride into Propan-1-ol

i ey fsid & HER W =iciad SudeEds a1 # oM"Y & Uhid & fade
il 3

() [Fe(CN)g]*
(ii) [CoFgz]>~

Discuss the nature of bonding in the following coordination entities on the basis

of Valence Bond Theory :

() [Fe(CN)g]*"
(ii) [CoFs]*"
T

OR

foreee &5 foures oot @ B ? SUHEHAN 1 § d* el A ardiad O A, 3 99 &
MR ) Ha Faikg b s & ? 3

What is crystal field splitting energy ? How does the magnitude of A, decide the

actual configuration of d orbital in a coordination entity having d* configuration.
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30. (i) SH WARE H IUPAC M faRau ot Sf6AM SMwEe oifvfbhar g/ MuAsH aar 81 1

(ii) FfIRET @ T e & S6d %9 H g : 1
C¢HsNH,, NH;, CoHsNH,, (CoHs), NH

(iti) UM T SfaeHE | [99g & o ge vamEfe aderer 1

(i) Write the IUPAC name of the amide that gives propanamine by Hoffmann's

bromamide reaction.
(i) Arrange the following in the increasing order of basic strength :
C¢HsNH,, NH;, CoHsNH,, (CoHs)o NH

(iii) Give one chemical test to distinguish between aniline and benzylamine.

HYAT

OR
(i) QNS @1 Pkb AR@UHN & o & ot a4t 8 & 7 1
(i) S FIES B 2-GERE § gRafkia s 1
(iif) STt U H FEEEE qaEd SHRT § St 4 el § 7 1

(i) Pkb of aniline is more than that of methylamine, why ?
(ii) Convert Benzyl chloride into 2-phenylethanamine.
(ii) Why do primary amines have higher boiling point than tertiary amines ?

1230/(Set : A) P.T.O.
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gE - T
SECTION - D
[ 9 I THR B 999 |

[ Case Study Type Questions ]

f=ifréa &6l (31 a 32) & &FYEF TEFTT HIT T IFE AT RY T JoA (i-iii) F TV
o

Study the following cases (31 & 32) carefully and answer the questions (i-iii) that
follow :

31. JIURTY Ul & Wem 9 #9 qisdl a9 99 9 S qisdl a9 99 ¥ Jdee & 5daE
3rean faamee @ fawee § faame & Yae & IUERe FeEl Sl 31 U & WhH @l & Ud

8 UER & AHR 7 Th o9 IS AHT THH bl ol S & Sl @Rl & Ao ar {3
HIIET il 31 FOR a8 STRReT & Y HCL § S/&T SaIT Sl 81 a8l HBIk @
F IAH & I& Th S H Y& o § q° T S H TR a1 I F @I A 3| HS
TG USETq S ST B ST A @1 S & 98 G SN & 9o T A Ul H @M ga e
S B ST &1 TR ® A & [ e R AR & I Sl & e e
W FBd & A GET AW G AF a9 A A, Q@ G WERe S 9REe g% @
ST 21

3T :

() IR A SRR FRE B 0.9% (FFHF/ARH) a1 AedH TR o § @ &,
HITTT I AT BT ? 1

1230/(Set : A)
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(i) F focdl & @ fpeep TREROT 9 o © ¢ 1M UIeREH FRES o7Far 1M gRar ¢ 1

(iii) SfIH TUERET 1 R ? UH TE-ueT el B A qaisd S 39 uRgedr ¥ W H
e S 2 2

3TeE

TR @ fafy 3R o @ AieY Zeme 39 79 Y 9| § 7 2

The spontaneous flow of the solvent through a semipermeable membrane from a
pure solvent to a solution or from a dilute solution to a concentrated solution is
called as osmosis. The phenomenon of osmosis can be demonstrated by taking
two eggs of the same size. In an egg the membrane below the shell and around

the egg material is semipermeable. The outer hard shell can be removed by

putting the egg in dilute hydrochloric acid. After removing the hard shell, one
egg is placed in distilled water and the other in a saturated salt solution. After
some time, the egg placed in distilled water swells up while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is termed as
osmotic pressure. Reverse osmosis takes place when the applied external

pressure becomes larger than the osmotic pressure.
Questions :

(i) What happens when RBC's are placed in 0.9% NaCl solution ?

(i) Which one of the following has higher osmotic pressure : 1M KCl or 1 M

Urea ?

1230/(Set : A) P.T.O.
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(ii) What is Reverse Osmosis ? Name one SPM which can be used in this

reverse osmosis.
OR

How the molecular mass of substance can be determined by the method

based on measurement of osmotic pressure ?

32. ANKBUSE A1 PEBEZE & NH AR SYE a8 Al § ST Sqeied el bar ST aqeba
SEETT & AR W g, Fe, (Ra Skl e Es af HEeEge & Nd o
YT § ARUEES I A § T T AT A BN o1 IS - Gohd, A, e
ol JferdidNgs ST oTuges WX STEfe e § AMINRAEe THEA 3 & Rd SEei
e e &l

J97
(i) S TEY H F TH B, S & AANABAZS HEA B el 8 7 1
(i) BTG SHEBUZS dHad JgSll § AT A &, Weg b F TE ? 1
(iii) o-D WHE &l EEY HEAT SHEY 2
ST
T T & 7 g8 &Y o by ye e R 7 2

1230/(Set : A)



(27) 1230/(Set : A)

Monosaccharides are simple carbohydrates that can't be broken further into
smaller units on hydrolysis. For example Glucose, Fructose Ribose etc. Oligo-
saccharides are the carbohydrates which on hydrolysis give two to ten units of
monosaccharides eg. Sucrose, Maltose, Lactose etc. Polysaccharides produce

large number of monosaccharides units on hydrolysis eg. starch cellulose.
Questions :

(i) Name the linkage that holds the two units in the disaccharide.

(i) Which disaccharide is found only in animals, not in plants ?

(iij Draw Haworth projection of a-D Glucose.
OR

What is Glycogen ? How it is different from Starch ?

grs - g
SECTION-E
[ € ST usH |

[ Long Answer Type Questions ]

33. () f=fafead & il 298 K W A% dHE [T T emf 10 #HIF 3

Mg (s) |Mg2+(0.00 1M || Cu2+(O.OOOlM) | Cu(s)
E];[92+|Mg =-2.37V
Eéu2+|Cu =0.34V

1230/(Set : A) P.T.O.
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(i) el facr &1 S agq $ A @ gedl § 7 2

(i) Write the Nernst equation and calculate the emf of the following cell at

298 K:

Mg (s) [Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)

El 2+ ¢, = 0.34V

(i) Why does the conductivity of a solution decreases with dilution.

AT

OR

(i) e ofufea o I 97 &1 AWe ad fawd IR Hife stffear & o
A,G° % TUAT 4l BN : 3
2Cr(s)+3Cd*" (ag) — 2Cr3* (ag)+ 3Cd(s)

ECr3+|Cr =-0.74V

El 2+ =040V
(i) HATST H T FM R ? 3T IR IR TR F 2

1230/(Set : A)
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(i) Calculate the standard cell potential of galvanic cell in which the following

reaction takes place. Also calculate the value of A,G" of the reaction :

2Cr(s)+ 3Cd?** (ag) — 2Cr3* (ag)+ 3Cd(s)
ECr3+|Cr =-0.74V

Eo

Ca2+|cq= —0-40V

(ii)) Define Kohlrausch's law by taking suitable example.

34. (i) HHAT Agel B FOH A & A IeF H el © ¢ 1
(i) EBAYT T A IoaaH SHFAHT ST SRSl ¥ FERid i el & 7 1
(ili) 3HITEE SEE § K,Cr,0, ® s9M & [0 AR & & S«d i) 3

(i) Why transition elements have the high enthalpy of atomization ?
(i) Why highest oxidation state is exhibited in oxoanions of a metal ?

(iii) Indicate the steps in the preparation of K,Cr,O; from the chromite ore.

STeE

OR

(i) ordaE NeREM WHMe, dfRilas ord & okl 34 HXar & ¢ 39 ifukem & fau
IS qHET faRau) 1
1230/(Set : A) P.T.O.
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(i) HR & W E°(M2 | M) & 99 &9 1TE (0.34 V) 8, 3% qaniad Her 1 & 7?1

(i) FrfoRed & d@ed & oOFEE U@ URRAEe & TERM @ O Sodeive 9w,
STl STt T GHYE T SN TR | Y| 3

(i) How does acidified permanganate solution react with oxalic acid ? Write

ionic equation for this reaction.
(i) Why E°(M 2+ | M) value of copper is the positive value (0.34 V) ?

(il Compare Lanthanoids and Actinoids with special reference to electronic

configuration, oxidation state and atomic and ionic size.

35. % FEME AN NFH T CoH, 0O &, 2, 4-DNP FA ST 81 S HAHEHHS Bl
AR HA & T DGR AMGRAT A 3 JEW ST W 8 1, 2-dwid
S-S TR ST ol Al H GEa| S8 [UPAC M fafgw stf¥fean & sge
B Al |l TEEiE Bl S ) 5

An organic compound with molecular formula CqH;,O forms 2, 4-DNP. Derivative
reduces Tollen's reagent and wundergoes Cannizaro reaction. On vigorous
oxidation, it gives 1, 2 benzene dicarboxylic acid. Identify the organic compound.

Write its IUPAC name. Write all chemical equations involved in reaction.

1230/(Set : A)
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OR

(i) T eif¥fhan & S &t d@E Ry ¢ ’

Hg2+
CH;-C=CH—2
HpSO4

(ii) SERONUA SR B =T R 1

(i) HfimEoTEs § A NH, T€ 84 8, W] $9d Uh NH, Te & QuidmEe faeed §
g B 8, TE A ? 1

(iv) frfafad i & HCN & St fkrsiic & Jod w9 § Zafed Hiv 1

THicisers, THieH, SRgUE®s-fed Hie
(v) VR HEE W U iR fewel fod 1

(i) Write the structure of product of the following reaction :

Hg2+
CH, -C=CH—29__,
HpS04
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(i) Draw the structure of : Cyclo-propanone Oxime.

(iii) There are two NH, groups in Semicarbazide, but only one is involved in

semicarbazone formation, why ?

(iv) Arrange the following compounds in the increasing order of reactivity

towards HCN :

Acetaldehyde, Acetone, Ditertbutyl Ketone.

(v) Write a short note on 'Aldol Condensation'.

1230/(Set : A)
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o FUCYRTHE F FaRkET 2 o e T& Al o savamagar & fhid st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETE Tl AT To FoT-TH T Haeq [i@ W To F HARFT FIT-YH G T FE A T
ford oife dmloues o7t & I GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 IF GAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
G § 25 4 @ w@hwre Tl A aam
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

A R
(i) Fo7-7F & Z7T 35 797 &1
(@) T geT Sad &
(iii) T F97-YF YT @Us & [FfT & : gue-o], G-, GUe-q, GUE-3 T GUS-7)
(iv) GUE-9 ¥ SeTE (1-18) TEGITT J97 81 J9% H97 1 7% T &1
(v) @UE-F 7 GIT (19-25) FITg FTNT F97 &1 T9% F97 2 STl #T 81
(vi) GE-F 7 i (26-30) TJ FTOT Fo7 &1 F9% F97 3 ST F 81
(vii) GUE-§ 7 & (31 732) HF TeFTT HHX & F97 &/ FAF 97 4 SF # &1
(viii) GUE-F & 7 (33-35) &7 FTHT 797 81 q9F F97 5 3H H 8
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(ix) 797 97 § &5 777 &7 @ 3 [acy 78 &1 7oy que-g 7 § g97 5, @ve-g 7 q
g7t 4 @e-g & gl gt 7 aer @ue-g § diF g7t 7 onalis fwew Ry w8 57
ag g7t § & oyl FaT T & 9T FeAr 81
(x) S7F TAE F AT T 8

General Instructions :
(i) There are 35 questions in all.
(i) All questions are compulsory.
(iii) This question paper is divided into five Sections : A, B, C, D and E.

(iv) Section-A consist of eighteen (1-18) objective type questions, each of

1 mark.

(v) Section-B consist of seven (19-25) very short answer type questions, each of

2 marks.

(vi)) Section-C consist of five (26-30) short answer type questions, each of

3 marks.

(vii) Section-D consist of two (31 & 32) case study type questions, each of

4 marks.

(viii) Section-E consist of three (33-35) long answer type questions, each of

5 marks.
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(ix) There is no overall choice. However an internal choice has been provided in
Section-B two questions, Section-C two questions, Section-D both questions

and Section-E all three questions. You have to attempt only one of the given

choices in such questions.

(x) Use of calculator is not permitted.

qug - I

SECTION-A

[ TS 9 |

[ Objective Type Questions ]

=T SglamediT g9 % @8l [dwey gy -

Select the correct option of the following multiple choice questions :

1. 39 e UHH, TRgE o 9 SRR F 8, af b4l | FHE et 5 ? 1
(A) NH; B) N
(C) H (D) C2He

The gas evolved when methyl amine reacts with nitrous acid is :
(A) NH3 B) M
(C) H» (D) C2Hs
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2. {5l aIffhar & E. & 0T @ o g B 1

(A) a7 Reiss $1 AF T X AT W AT A A

(B) T Rerieh &l A & ST QAN WX A B H

(C) THTE & GHET &

(D) IER® & 999 9

Activation energy of a chemical reaction can be determined by :
(A) determining the rate constant at standard temperature

(B) determining the rate constant at two temperatures

(C) determining probability of collision

(D) wusing catalyst

3. 9 # ¥ & e etk wefdg 7dff #@ § ? 1
v O
CH;
®) <E>_CHO

(C) HCHO

(D) CH3;CHO

1230/(Set : B) P.T.O.
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Cannizaro's reaction is not given by :
CHO

v Ox
CH>

(C) HCHO
(D) CH;CHO

4. 39 &G qEH § KMnO, NCREH TRAISES &l fheH gRafid &3l © ? 1
@A) I (B) 10"
(C) 103 (D) IO

When alkaline KMnO, is treated with KI, iodide ion is oxidized to :

(A) I (B) IO~
(C) 105 (D) IO;
5. frfafad & @ @9q o1f® o=y & 8 7 1
(A) ITEA Thied
(B) WERilera
(C) et
(D) m-FARIAA

1230/(Set : B)
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Which of the following is most acidic ?
(A) Benzyl alcohol

(B) Cyclohexanol

(C) Phenol

(D) m-Chlorophenol

6. freeq & faured CFSE o<®a® [CoClg|*™ & [T 18,000 cm! B, T Igseaid fheed
&9 [CoCl,]*~ & fow 1 &m ? 1

(A) 18,000 cm!

(B) 16,000 cm-!

(C) 8,000 cm!

(D) 20,000 cm!

The CFSE for octahedral [CoCl6]4_ is 18,000 cml. The CFSE for tetrahedral
[CoCl, >~ will be :

(A) 18,000 cm!

(B) 16,000 cm!

(C) 8,000 cm!

(D) 20,000 cm!

1230/(Set : B) P.T.O.
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7. AEA (1) FIRES & IURAT H Fegs, oqio | ARRRN BT fel T U o Al
Tl 8, F8 AEhaT ¢ 1

(A)  FAFIET foreae etk
(B) gorgivRAT Sicreeras atfisham
(C) TRl Sfcreemd= safdfsean
(D) RGN RTST SAfishaT

Toluene reacts with a halogen in the presence of iron (III) chloride giving ortho

and para halo compounds, the reaction is :
(A) Electrophillic elimination reaction

(B) Electrophillic substitution reaction

(C) Nucleophillic substitution reaction

(D) Nucleophillic addition reaction

8. 0.01 M TS e &l o1 § 0.01 M MgCl e @1 feHish & e 1
(A) T ST T
(B) I B
(C) & om B
(D) ¥R IO &R
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In comparison to a 0.01 M solution of glucose, the depression in the freezing

point of 0.01 M MgClL solution is :
(A) remains same

(B) about twice

(C) about three times

(D) about four times

9. IAMRRAT A + 2B — C % [, a7 = K[A] [B] &1 B & Q&N YA &1 T 71 [A] &I @igan

AN @M W, a7 s 9 0 99| 987 ¢ 1
(A) THAM =W
(B) FITW &M
(C) ¥R IO &R

(D) ST ¥& ST

Rate law for the reaction A + 2B — C is found to be Rate = KJ[A] [B].
Concentration of reactant B is doubled keeping the concentration of A constant,

the value of rate constant will be :
(A) the same

(B) doubled

(C) quadroupled

(D) halved
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10. WAHTGE & T HiF-dl TR Ty Bt § 7

(A) +2 (B) +3
(C) +4 (D) +5
Which of the following oxidation state is common for all lanthanoids ?
(A) +2 (B) +3

(€) +4 (D) +5

11. STRRHE S THieN o dafcsese aMl @ Sfabkar 7&f &3 & -

(A) |Ifeg BEZH FAEHES

(B) fEd BREmIM

(C) I Hicgs™=

(D) e ATEHE

The reagent which does not react with both acetone and benzaldehyde :
(A) NaHSOs

(B) Phenyl hydrazine

(C) Fehling solution

(D) Tollen's reagent
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12. 270 ReRi® (Ku) & A ¢ 1

(A) TN qgA & Y FEdl ©

(B) T S+ & @Y 9 &Il &
(C) Rer & 2

(D) UeW @l & MY Hedl &

The value of Henry's constant Ky :

(A) Increases with increase in temperature

(B) Decreases with increase in temperature

(C) Remains constant

(D) First increases, then decreases

13. Frfaied & & HH-a1 B-0Ye faaffT sAR sk & dofed fam o @ © ? 1
(A) e B:
(B) [ Ba
(C) e Be
(D) faei® Biz

1230/(Set : B) P.T.O.
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Which of the following B-Group vitamin can be stored in our body ?
(A) Vitamin B,
(B) Vitamin B>
(C) Vitamin Be

(D) Vitamin B2

14. AT T Th Jgd AU 89 & G HE HCA 8, 9 1
(A) Egq =0

(B) Egq > Eqm

(C) Eqg > Egq

(D) Egg = Eqm

An electrochemical cell can behave like an electrolytic cell, when :
(A) Ecen=0

(B)  Ecenl > Eext

(C) Eext > Ecen

(D) Ecel = Eext
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g7 &g 15 & 18 & [ @ &7 Ry 70 & - oifrpET [ A] T FRXT [ R |, HI7 F 98HT
#5174 T4 @i (A), (B), (C), (D) § & 797 %I §&l T g -

For Question Numbers 15 to 18 given below consists of two statements labelled as
Assertion [ A | and Reason [ R |. Read the statements and select the most appropriate

answer from the Codes (A), (B), (C), (D) :

15. e [A] : MXe T MXsL G S8 X @ L UHEqY forrs &, SO SHedadr Tet
EXIRT

SR [R] : SOHAE G9E@Ed S AN § el ol S PEel Sugedde g
6 Bl

FE : 1
(A) [A] @ [R] a1 @ ? X [R], [A] & @& e B

(B) [A] @ [R] a1 @ B, qAfhT [R], [A] & T& =ren -8t 2

(C) [A] ¥F B, Al [R] T 2

(D) [A] TG &, dfEA [R] T B
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Assertion [A] : Complexes of MXs and MXsL type [X and L are unidentate] do

not show geometrical isomerism.

Reason [R] : Geometrical isomerism is not shown by the complexes of

coordination number 6.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

16. AHE [A] : T9F Ao T8 & o Qfesha oags! &l Faeish =1 TR & gedl @ :
RI> RBr> RCL> RF

BN [R] : TR TGS, TEhed SIHES, au UEhRd STAISRe & Fa9-ih, TN S| M

I EEGIHET o HAE B Bl
FE : 1
(A) [A] @ [R] @9 99 € SR [R], [A] ® 9 a&rE R
(B) [A] @ [R] a1 G 8, Al [R], [A] & T& e & 2
(C) [A] §F B, qfd [R] T 2
(D) [A] TG &, QAfT [R] T B
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Assertion [A] : The boiling point of alkyl halides decreases in the order

RI> RBr > RCl > RF for same alkyl group.

Reason [R] : The boiling point of alkyl halide having chloride, bromide and
iodides are higher than that of the hydrocarbon of comparable

molecular mass.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].

(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

17. ATEHEA [A] : BHCSERS Th T 17 B
PR [R] : $99 sp? THRT HEA TCAT BNl 8|
FE : 1
(A) [A] @ [R] a1 @ ? X [R], [A] I @& e B
(B) [A] @ [R] a1 G B, QAfhT [R], [A] & T8 =ren =&t 2
(C) [A] ¥F B, Al [R] T 2
(D) [A] TG &, QAfdT [R] T B
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Assertion [A] : Formaldehyde is a planar molecule.

Reason [R] : It contains sp? hybridized carbon atom.

Code :

(A) Both [A] and [R] are true and [R] is the correct explanation of [A].

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A]is true, but [R] is false.

(D) [A] is false, but [R] is true.

18. AU [A] : 19 NaCl & 91 & fHamn S 2, @ fo"ie § tF sfaqe 3@ o &l
HROT [R] : FFEl 919 & a7 &l S99 B9 e o BHie & e & B
#T :
(A) [A] @ [R] a1 @ ? X [R], [A] & @& e B
(B) [A] @ [R] a1 G B, QAfhT [R], [A] & T8 =ren =&t 2
(C) [A] & B, f [R] T I
(D) [A] TG &, QAfdT [R] T B
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Assertion [A] : When NaCl is added to water, a depression in freezing point is

observed.

Reason [R] : The lowering of vapour pressure of a solution causes depression

in the freezing point.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A]is true, but [R] is false.

(D) [A] is false, but [R] is true.

guE -

SECTION - B

[ Sty ST 999 |

[ Very Short Answer Type Questions ]

19. W= dgeil & [UPAC AW fifg : 2
(i) K3[Fe(Cy04)3]
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Write the IUPAC name of the following coordination compounds :
(i)  [Co(NH3)sCO3]Cl

(i) Kz[Fe(Cy04)3]

20. F1 & B, 9 ¢ 2
(2) g 3R A AR H AR s i AR difsaw & &t § 7
(b) TR FANES H AR Riig KOH | 81t & 7

What happens, when :
(@) Methyl bromide is treated with sodium in the presence of dry ether ?

(b) Ethyl chloride is treated with aqueous KOH ?

21. TR % 9= a09 § 31 OH T 34 SodeiiKrl URae & Sid & @b &
g7 2

Explain how does OH group attached to a carbon of benzene ring activate it

towards electrophillic substitution reaction.

ST
OR
frreicTiee ARTshaTetl | IT Iedral bl STgHH sy 2
OCyHs
(i) + HBr —

(11) (CH3)3C—0C2H5 +HI—
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Estimate the products obtained from the following reactions :

OC2Hs
(i) + HBr —

(i) (CH3)3C—OC,Hs + HI—

22. = ik & A qer B &) | 4 ¢ 2

NaNOo + HCl

Fe /| HCl
CeHsNO, —Fe/ —

Give the structure of A and B in the following reaction :

Fe [ HCI A NaNO9 +HCI

CeHsNO, =
23. ffaRad oo AR & el J§ HH-a1 e SN2 sAffran derr @ & ? 2
CH3
|
()  CHsCH, CH-CHy & CHs-C - Br
Br CHj

I I
CH, CH,

1230/(Set : B) P.T.O.
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25.

(20) 1230/(Set : B)

Which alkyl halide from the following pair would you expect to react more

rapidly by SN 2 mechanism ?

CHj;
|
(1) CH3CH2(|:H—CH3 or CHS—(E—BT
Br CH;

(i) CH; - |CH -CH, -CH,Br or CH,;-CH, - |CH - CH, Br
CH, CH,

TN &l T X EiBeeT &1 F J9d Bl © 7 2

What is the effect of denaturation on the structure of proteins ?

R — P 31k & forw ifeRes & @igar 0.03 M @ 25 fiFe & uRafdd 2%t 0.02 M &
St 31 SfEd A S OMT e gE B it 2

For the reaction R — P the concentration of a reactant changes from 0.03 M to
0.02 M in 25 minutes. Calculate the average rate of reaction using units of time

in minutes.

STeE

OR

SO,Cl, % U URFE A= & et A= # AR 8 § 60 e &1 @ @ o A
HAIRAT 99F IS &l 2, a1 a7 ReRiw &l T it 2
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Time required to decompose SO,Cl, to half of its initial amount is 60 minutes. If

the decomposition is a first order reaction, then calculate the rate constant of

the reaction.
gves - g
SECTION-C

[ @ SO09 97 |

[ Short Answer Type Questions ]

26. fhted 8 faures ot # § ? SudeEde o<l B d* FEeh @ ardiasd [ A, & AN B

MR W) %y Faig b siar & ? 3

What is crystal field splitting energy ? How does the magnitude of A, decide the

actual configuration of d orbital in a coordination entity having d* configuration.

YqT

OR
OISt Y RSl & AR W =i IUqedde ol 4 Y S Ghid Sl faee
FHIfoTq 3
() [Fe(CN)e]*

(ii) [CoFg]*~
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(22) 1230/(Set : B)

Discuss the nature of bonding in the following coordination entities on the basis

of Valence Bond Theory :

@)
(i)

@)
(i)

(i)

(i)

(iii)

(i)

(i)

[Fe(CN)6]*

[CoFg )%~

U 1 Pkb AREEAN &t go 7 ofte a9 B 8 7 1
I FIRES & 2-BieeEaH § aRafdd i 1
i QAT BT e Jorad QAT | ST i err § 7 1

Pkb of aniline is more than that of methylamine, why ?

Convert Benzyl chloride into 2-phenylethanamine.

Why do primary amines have higher boiling point than tertiary amines ?

e

OR
39 UHES & [UPAC 19 fofau ot 2ea somges Ak arr fieds 3ar 81 1

Frifaiiad @l & J1eed & Sed A ¥ [arag ¢ 1

Ce¢HsNH,, NH3, CoHsNH,, (CoHs), NH

Ui T SfedE § fasiT & o e ranies ahe S 1
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29.

(23) 1230/(Set : B)

(i) Write the IUPAC name of the amide that gives propanamine by Hoffmann's

bromamide reaction.
(ii) Arrange the following in the increasing order of basic strength :
CgHsNH,, NH;, CoHsNH,, (CoHs)o NH

(iii) Give one chemical test to distinguish between aniline and benzylamine.

Freferied aRecal & fhe TR fam ST gt & ° 3
() Au-2-3ifd q A

(ii) WFE E 2, 4, 6 TEARSIBIN

(il) BN T AfAlserEs

Convert :
(i) Propan-2-ol into Propene
(ii)) Phenol into 2, 4, 6-trinitrophenol

(iii) Phenol into Salicylaldehyde

QBT &% ugm &I o afiiear § 99% ek of 89 § &M @9 90% Siffkar I 8n
T @ A g9 9§ A B o 3

For the first order reaction show that the time required for 99% completion of

first order reaction is twice the time required for the completion of 90%.
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30. HEAT g & WY I I AIHCT T GG G AUECH FH AR ARl F F1 IR
3T & ? o § HWEEU) 3

Explain the variation of molar conductivity of a strong electrolyte and weak

electrolyte with concentration through graph.

gl - §
SECTION-D
[ 9 I THR B 997 |
[ Case Study Type Questions ]

[=ifre &6l (31 q 32) @ FFYEH HEATT HIT Tl IqE A QT T Jo (i-iii) F TV
gy

Study the following cases (31 & 32) carefully and answer the questions (i-iii) that
follow :

31. UNRBES a1 FEiERge & PMH R offYs X A # St ervafed W&l fhar o @
TR & AR W g, A, TEa oMl Siferiaaise al FEeRge & N S|
AT § ARUES B A § I T IHEA A Bl T SIS - G, AR, e
il UferidiEe i ofqHed WY oTcfyd Hewr § AMaRiEe IHEAl 0§ forae Iamer
®rH agend &l

337 :

(i) U SN B FM AW T, W A ANADUZS SHIEAT Bl el & 7 1
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(25) 1230/(Set : B)

(i) BT SHEBUIS dad gl § AT A &, Weg b F TE ? 1

(iii) o-D WHIE FHl EEY HEAT FEY 2
e

DS M 5 ? I8 wH 4 g TR e s 7 2

Monosaccharides are simple carbohydrates that can't be broken further into
smaller units on hydrolysis. For example Glucose, Fructose Ribose etc. Oligo-
saccharides are the carbohydrates which on hydrolysis give two to ten units of
monosaccharides eg. Sucrose, Maltose, Lactose etc. Polysaccharides produce
large number of monosaccharides units on hydrolysis eg. starch cellulose.

Questions :

(i) Name the linkage that holds the two units in the disaccharide.

(i) Which disaccharide is found only in animals, not in plants ?

(iij Draw Haworth projection of a-D Glucose.
OR

What is Glycogen ? How it is different from Starch ?

AU foiell & A | HH HiEdl AW 9§ 3= HiEdl a g9 q e & ogae
T foEsd @ faqas | e @ YA S GERel Hal S ol GNERe & WhH & Al @
& THR & AR F Th oF oS A9 THE b &l oS & Al SR & A arl el
FHIET Bl B1 FER el STERer B aF HCL | SeT SART Sl 81 Jed FBI STawel
P TRA F 6 T S B B 9 § T TR IS H THG a1 Wl A @M A o1 FB
TG USETq S ST B ST A @1 A & 98 G SN & q T A Ul H @M ga e
S B ST &1 W ® A & U e R AR & I S & S e
a9 Fed &l AR WAl & | A% a9 A S, @ SienH W S aReeT 4§ 8
STt 31
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797 :

() IR A SRR HRE B 0.9% (FFF/AH) a9 AedH FRES oo § @ &,
IR I T BRI ? 1

(i) F focdl & @ fpeep RIEReT 9 o © ¢ 1M UICREH FRES o7Far 1M gRar ¢ 1

(iii) SfRT TR ¥ ? U SIE-UTY R @ AW qase o 39 giger § yEer §
e S B 2

e

TR @ fafy 3 fOoE & AieY ZemE 39 9 Y 9| § 7 2

The spontaneous flow of the solvent through a semipermeable membrane from a
pure solvent to a solution or from a dilute solution to a concentrated solution is
called as osmosis. The phenomenon of osmosis can be demonstrated by taking
two eggs of the same size. In an egg the membrane below the shell and around
the egg material is semipermeable. The outer hard shell can be removed by
putting the egg in dilute hydrochloric acid. After removing the hard shell, one
egg is placed in distilled water and the other in a saturated salt solution. After
some time, the egg placed in distilled water swells up while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is termed as
osmotic pressure. Reverse osmosis takes place when the applied external

pressure becomes larger than the osmotic pressure.
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Questions :
(i) What happens when RBC's are placed in 0.9% NaCl solution ?

(i) Which one of the following has higher osmotic pressure : 1M KCl or 1 M

Urea ?

(ii) What is Reverse Osmosis ? Name one SPM which can be used in this

reverse osmosis.
OR

How the molecular mass of substance can be determined by the method

based on measurement of osmotic pressure ?

s - g
SECTION - E

[ € ST U9 |

[ Long Answer Type Questions ]

33. (i) HHAY GGl B FE TAM & AF I | B o ¢ 1
(i) EHAY oI H IJeaaqH STFAIBT IR Sage! d JERIA F&i Bkl o 1
(ili) 3HTEE IEE § K,Cr,0, & s\M & ¢ R & &1 S«@ i) 3
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(i) Why transition elements have the high enthalpy of atomization ?
(i) Why highest oxidation state is exhibited in oxoanions of a metal ?

(iii) Indicate the steps in the preparation of K,Cr,O; from the chromite ore.

3TeE

OR

(i) oFAE qCREM WHMe, SffRiias ofd | STBRal $d Hal & ¢ 39 oItk & fau
I+ FHIHT feiy 1

(i) HR W E°(M? | M) & 99 &9 E (0.34 V) 8, 30 diad Her FmE 7?1

(i) Frfafed & ded § oONEs wd UEeAES & e H gl Sadele 9,
HTFAHOT STaATT AT RAG T ST+ BN F A 3

(i) How does acidified permanganate solution react with oxalic acid ? Write

ionic equation for this reaction.
(i) Why E°(M 2+ | M) value of copper is the positive value (0.34 V) ?

(ii) Compare Lanthanoids and Actinoids with special reference to electronic

configuration, oxidation state and atomic and ionic size.
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34. UF FETH AN PEH T[T CoH O 8, 2, 4-DNP A M o1 o AfFwHS Bl
AERT FIA & T PSR SAHERNT IAT B T ST W d8 1, 2-9wid
ST~ TR ST 8| AR Pl el g6 [UPAC AW fafaw) aifisear & g
B aral |t TEtE Sl @ farag 5

An organic compound with molecular formula CqH;,0 forms 2, 4-DNP. Derivative
reduces Tollen's reagent and undergoes Cannizaro reaction. On vigorous
oxidation, it gives 1, 2 benzene dicarboxylic acid. Identify the organic compound.

Write its [UPAC name. Write all chemical equations involved in reaction.

7T
OR
(i) T eif¥fhan & S &t d@XE faRag ¢ ’
CHS—CECHTHQQS—Z—)
(i) WEROMU SR B =T SR 1
(i) FHHFEMES F & NH, T & §, WY P90 T NH, WIE & FHpeEa fawe o
Y eI ©, Tar & ? ’

(iv) frfafad it & HON & gt afrsiic & Sed w9 § afed Hiv 1
eiefeerRs, THEN, SROdEs-Sfea HeH
v) A W T T e el 1
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(i) Write the structure of product of the following reaction :

(ii) Draw the structure of : Cyclo-propanone Oxime.

B)

(iii) There are two NH, groups in Semicarbazide, but only one is involved in

semicarbazone formation, why ?

(iv) Arrange the following compounds in the increasing order of reactivity

towards HCN :

Acetaldehyde, Acetone, Ditertbutyl Ketone.

(v) Write a short note on 'Aldol Condensation'.

35. (i) fr=fafad a@ @ 298 K W A& G [T T emf d i -

Mg (s) |[Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)

ECu2+|Cu =0.34V

(i) felt Foe=e &1 Tashar agar & ar & gedl & ¢
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(i) Write the Nernst equation and calculate the emf of the following cell at

298 K:

Mg (s) |[Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)

ECu2+|Cu =0.34V
(i) Why does the conductivity of a solution decreases with dilution.

e

OR

(i) Fafofea sffear a S 9 1 9FE o 9 g S sTiier & o
A,G° ® TUAT I BN : 3

2Cr(s)+3Cd>" (aq) — 2Cr>*(ag)+ 3Cd(s)

Ecr3+|cr = _0.74 V

E 2+ o= —0-40V
(i) HIATSY B T MR ? IH IAECT G W F 2
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(i) Calculate the standard cell potential of galvanic cell in which the following

reaction takes place. Also calculate the value of A,G" of the reaction :
2Cr(s)+3Cd?" (aqg) — 2Cr>*(ag)+ 3Cd(s)
ECr3+|Cr =-0.74V

Eo

Cd2+|Cd= —O4OV

(ii)) Define Kohlrausch's law by taking suitable example.

1230/(Set : B)
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Don’t leave blank page/pages in your answer-book.

1230/(Set : C) P.T.O.



(2) 1230/(Set : C)
o FUCYRTHE F FaRkET 2 o e T& Al o savamagar & fhid st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETE Tl AT To FoT-TH T Haeq [i@ W To F HARFT FIT-YH G T FE A T
ford oife dmloues o7t & I GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 IF GAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
G § 25 4 @ w@hwre Tl A aam
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

A R
(i) Fo7-7F & Z7T 35 797 &1
(@) T geT Sad &
(iii) T F97-YF YT @Us & [FfT & : gue-o], G-, GUe-q, GUE-3 T GUS-7)
(iv) GUE-9 ¥ SeTE (1-18) TEGITT J97 81 J9% H97 1 7% T &1
(v) @UE-F 7 GIT (19-25) FITg FTNT F97 &1 T9% F97 2 STl #T 81
(vi) GE-F 7 i (26-30) TJ FTOT Fo7 &1 F9% F97 3 ST F 81
(vii) GUE-§ 7 & (31 732) HF TeFTT HHX & F97 &/ FAF 97 4 SF # &1
(viii) GUE-F & 7 (33-35) &7 FTHT 797 81 q9F F97 5 3H H 8
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(ix) 797 97 § &5 777 &7 @ 3 [acy 78 &1 7oy que-g 7 § g97 5, @ve-g 7 q
g7t 4 @e-g & gl gt 7 aer @ue-g § diF g7t 7 onalis fwew Ry w8 57
ag g7t § & oyl FaT T & 9T FeAr 81
(x) S7F TAE F AT T 8

General Instructions :
(i) There are 35 questions in all.
(i) All questions are compulsory.
(iii) This question paper is divided into five Sections : A, B, C, D and E.

(iv) Section-A consist of eighteen (1-18) objective type questions, each of

1 mark.

(v) Section-B consist of seven (19-25) very short answer type questions, each of

2 marks.

(vi)) Section-C consist of five (26-30) short answer type questions, each of

3 marks.

(vii) Section-D consist of two (31 & 32) case study type questions, each of

4 marks.

(viii) Section-E consist of three (33-35) long answer type questions, each of

5 marks.
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(ix) There is no overall choice. However an internal choice has been provided in
Section-B two questions, Section-C two questions, Section-D both questions

and Section-E all three questions. You have to attempt only one of the given

choices in such questions.

(x) Use of calculator is not permitted.

s - I

SECTION - A

[ a9 |

[ Objective Type Questions ]

=T glamehd Fo % el [AweT g -

Select the correct option of the following multiple choice questions :

1. fr=afed & | 999 it or=ig & § 7 1
(A) SRS T
(B) HERNeFI
(C) Tid
(D) m-FARIBAA
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Which of the following is most acidic ?
(A) Benzyl alcohol

(B) Cyclohexanol

(C) Phenol

(D) m-Chlorophenol

2. fpeeq & faued CFSE S<®d® [CoClg|*™ & [T 18,000 cm! B, T Igsead fheed
89 [CoCl,]*~ & foT 1 2w ? 1

(A) 18,000 cm!

(B) 16,000 cm-!

(C) 8,000 cm!

(D) 20,000 cm!

The CFSE for octahedral [CoCl6]4_ is 18,000 cm!. The CFSE for tetrahedral
[CoCl, >~ will be :

(A) 18,000 cm!

(B) 16,000 cm!

(C) 8,000 cm!

(D) 20,000 cm!

1230/(Set : C) P.T.O.
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3. A (II) FAES B JURAT # s, oalo o STHEhaT HXeb it Fo1 I el AIND
SR B, T8 SRR © 1

(A)  FAFRET forenoe st
(B) goergi-IRRT Sicrera arfifshan
(C) TRl Sfcreemds saffsean
(D) SRR RTST SAfishaT

Toluene reacts with a halogen in the presence of iron (III) chloride giving ortho

and para halo compounds, the reaction is :
(A) Electrophillic elimination reaction

(B) Electrophillic substitution reaction

(C) Nucleophillic substitution reaction

(D) Nucleophillic addition reaction

4. 0.01 M IS e &l g1 § 0.01 M MgCl, e &1 fBHish & e 1
(A) TH S| R
(B) I Brm
(C) & om B
(D) ¥R IO &R
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In comparison to a 0.01 M solution of glucose, the depression in the freezing

point of 0.01 M MgCL solution is :
(A) remains same

(B) about twice

(C) about three times

(D) about four times

5. oAfBRAT A + 2B — C & R, 3 = K[A] [B] &1 B &I |&dl YA &1 W 71 [A] &I @igan

AN @M W, a7 s 9 & 99| 98T ¢ 1
(A) THAM =W
(B) I &M
(C) ¥R IO &R

(D) ST & ST

Rate law for the reaction A + 2B — C is found to be Rate = KJ[A] [B].
Concentration of reactant B is doubled keeping the concentration of A constant,

the value of rate constant will be :
(A) the same

(B) doubled

(C) quadroupled

(D) halved
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6. WAAHIGE I GG HF-Ul SATFIIHTT T BNt B 7

(A) +2 (B) +3
(C) +4 (D) +5
Which of the following oxidation state is common for all lanthanoids ?
(A) +2 (B) +3

(€) +4 (D) +5

7. ARFHE N TR oI dofceeEs aFl 9 Uidkhar 78 & ® ¢

(A) |Ifeg BEZH FAEHES

(B) ThEd BIEgniA
(C) I Hiegs™=
(D) el oTBHS

The reagent which does not react with both acetone and benzaldehyde :
(A) NaHSOs

(B) Phenyl hydrazine

(C) Fehling solution

(D) Tollen's reagent

1230/(Set : C)
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8. & ReRi® (Ku) #1 AF : ’

(A) TN Fg9 & Y FEdl ©
(B) TI9HM s & WY FH Bl ©
(C) fer & ®

(D) UeW @l & MY Hedl &

The value of Henry's constant Ky :
(A) Increases with increase in temperature

(B) Decreases with increase in temperature

(C) Remains constant

(D) First increases, then decreases

9. fF=fafad § & $F-a1 B-998 feie gaR iR § wfed fear s abar & 7 1
(A) e By
(B) [ Ba
(C) e+ Be
(D) g™ Biz

1230/(Set : C) P.T.O.
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Which of the following B-Group vitamin can be stored in our body ?
(A) Vitamin B;
(B) Vitamin B>
(C) Vitamin Be

(D) Vitamin B2

10. AT ¥ T JEd AUESH A9 & TN HE FICA 8, 9 1
(A) Egg =0

(B) Exg > Eqm

(C) Eqg > Egq

(D) Egg = Eqm

An electrochemical cell can behave like an electrolytic cell, when :
(A) Ecen=0

(B)  Ecenl > Eext

(C) Eext > Ecen

(D) Ecel = Eext

1230/(Set : C)
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11. S fHemsd T, TRgd o d STERIT Bl o, O Hi-d I R 8kl o ¢ 1
(A) NH; B) N
(C) H (D) CaHs

The gas evolved when methyl amine reacts with nitrous acid is :

(A) NHs (B) N
(C) He (D) C>Hs
12. 5l e & E. & 0T @ ST gl © 1

(A) o ReRi® # AW U RER ¥ ) G 1 &

(B) o Rei® & 9 & ST A9 IR &d H 9

(C) THUE & HHE &

(D) SRS & 994 9

Activation energy of a chemical reaction can be determined by :
(A) determining the rate constant at standard temperature

(B) determining the rate constant at two temperatures

(C) determining probability of collision

(D) using catalyst

1230/(Set : C) P.T.O.
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13. 1 § ¥ &9 S erffhar weffa & #@ ¥ ? 1

CHO
CH>

(A)

:

(B) CHO

o

(C) HCHO

(D) CH3;CHO

Cannizaro's reaction is not given by :

w ORGP
CH>
0 (Do
(C) HCHO
(D) CH3CHO
14. @ &9 q&| § KMnO, WeREW STEieEs # fhad aRakid & & ? 1
(A) I (B) 10
(C) IO3 (D) IO;

When alkaline KMnO, is treated with KI, iodide ion is oxidized to :
@A) I (B) IO
(C) 103 (D) IO4

1230/(Set : C)
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g7 &g 15 & 18 & [ @ &7 Ry 70 & - oifrmET [ A] T FRXT [ R |, HIT F 98HT
#1974 74 & (A), (B), (C), (D) & & F97 T @& TwT g7 -

For Question Numbers 15 to 18 given below consists of two statements labelled as
Assertion [ A | and Reason [ R |. Read the statements and select the most appropriate

answer from the Codes (A), (B), (C), (D) :

15. AFHE [A] : BiAfcSeEsS T GHAaE 319 Bl
PR [R] : T4 sp? THRA HET TCAT BNl 8|
HE : 1
(A) [A] @ [R] aF 9 & &R [R], [A] ¥ T& R Bl
(B) [A] @ [R] A € &, Al [R], [A] & T& & &l B

(C) [A] €7 B, qAfbd [R] T 2
(D) [A] &q &, QA6 [R] €A B

Assertion [A] : Formaldehyde is a planar molecule.

Reason [R] : It contains sp? hybridized carbon atom.

Code :

(A) Both [A] and [R] are true and [R] is the correct explanation of [A].

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.
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16. 3IREYH [A] : 519 NaCl & U1 & fcmn S &, o fedie § o o/@wme 3@ S 2

HROT [R] : f6E 914 & a1 1 3919 7 e 9§ feHie & fa=we & =

FE : 1
(A) [A] @ [R] @9t 9 € SR [R], [A] B T & B

(B) [A] @ [R] IF! G 8, Al [R], [A] & T& & 78 2

(C) [A] 7 B, Al [R] T 2

(D) [A] T B, QAT [R] T &l

Assertion [A] : When NaCl is added to water, a depression in freezing point is

observed.

Reason [R] : The lowering of vapour pressure of a solution causes depression

in the freezing point.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.
(D) [A] is false, but [R] is true.
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17. SRR [A] : MXe T MXsL G S6 X G L UHEgR forrs 2, SO SHmeaaar Fei

R

FRO [R] @ SHIHCE HHEEGAT ST A § FE u omr e Sueeddst d@en
6 2l

#IS : 1

(A) [A] @ [R] @9t 9 € SR [R], [A] B T &= B
(B) [A] @ [R] A G 8, Al [R], [A] & T& & & 2
(C) [A] 97 B, Al [R] T =

(D) [A] & B, QAT [R] T &l

Assertion [A] : Complexes of MXs and MXsL type [X and L are unidentate] do

not show geometrical isomerism.

Reason [R] : Geometrical isomerism is not shown by the complexes of

coordination number 6.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.
(D) [A] is false, but [R] is true.
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18. e [A] : T9F Ucehal T8 & o Qfesha Scgsl &l Faeish =1 TR @ gedl @ :
RI> RBr> RCL> RF

SR [R] : TR FAINES, TEPEd SIAES, OU UGhEd STAISRS & Fa9-ih, TN S|

I BEGIBE & SfE B ol
iz : 1
(A) [A] T [R] I & & S [R], [A] ¥ T& AR &
(B) [A] @ [R] @i €A &, QAfdA [R], [A] B Tel AR T&l 2l
(C) [A] & 2, AfH [R] T ol
(D) [A] TC &, qAfT [R] T B

Assertion [A] : The boiling point of alkyl halides decreases in the order

RI> RBr > RCIl > RF for same alkyl group.

Reason [R] : The boiling point of alkyl halide having chloride, bromide and
iodides are higher than that of the hydrocarbon of comparable

molecular mass.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.
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o s -

SECTION-B

[ SAfeeTg ST 99 |

[ Very Short Answer Type Questions ]

19. e STRichamell & U< IRl &1 SFIAN BT -
OCxHs
(i) + HBr —

(11) (CHs)SC_OCQHS + HI—>

Estimate the products obtained from the following reactions :
OC>Hs
(i) + HBr —

(11) (CH3)3C—OC2H5 +HI—

3TeE
OR

: C)

TIEET % S a0 @ J31 OH WE Sd IOauiel JRiedd & S &8 |ihiad Hear

g7

2

Explain how does OH group attached to a carbon of benzene ring activate it

towards electrophillic substitution reaction.

1230/(Set : C) P.T.0O.
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20. = offear & A qor B &) | 4 ¢

21.

NaNOo + HCl

1230/(Set

C6H5N02 Fe /| HCI A

Give the structure of A and B in the following reaction :

CeHSNO, Fe/ HCI

273K

NaNOg +HCl

Frefeea saie A & el | SiF-a1 AR SN2 Sffear digar & 3 ?

CHS
|
(i) CHyCHy CH-CH; S CHy=C - Br
Br CH3

(i) CH;-CH-CH, -CH,Br 94 CH,-CH, - CH-CH,Br
I I

CH,

273K

CH,

: C)

Which alkyl halide from the following pair would you expect to react more

rapidly by SN 2 mechanism ?

CH>
|
(1) CH3CH2 (EH—CHS or CH3—(|:—BT
Br CH3

(i) CH, - CH —CH, ~CHyBr or CH; ~CH, — CH - CH, Br

CH,

1230/(Set : C)
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22.

23.

24.

(19) 1230/(Set : C)
Qe &l EXEAT OX fagiiB T 1 91 991 Bil © 2

What is the effect of denaturation on the structure of proteins ?

SO,Cl, % U URFE A= & et A= # AR 8 § 60 e &1 @ @ o A
sffehar gem ife &t 2, @ 3 ReRie & o FHiftg 2

Time required to decompose SO,Cl, to half of its initial amount is 60 minutes. If
the decomposition is a first order reaction, then calculate the rate constant of

the reaction.

e

OR

R — P 31k & o I/eRes 1 @igdr 0.03 M @ 25 e & uRdfig 2%t 0.02 M &
St 31 SfEd A oM fiee gaE B it 2

For the reaction R — P the concentration of a reactant changes from 0.03 M to
0.02 M in 25 minutes. Calculate the average rate of reaction using units of time

in minutes.

=T @l & IUPAC M fdieT 2
(i) [Co(NH3)sCO3]Cl

(i) K3[Fe(Cy04)3]

1230/(Set : C) P.T.O.
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Write the IUPAC name of the following coordination compounds :

(i) Kz[Fe(Cy04)3]

25 & & B, 9 ¢
(2) g 3R H AR H AR SAgs i A difsaw & &t & 7
(b) TR FES H AUEEN Solg KOH § &t 8 7

What happens, when :
(@) Methyl bromide is treated with sodium in the presence of dry ether ?

(b) Ethyl chloride is treated with aqueous KOH ?

geg - |
SECTION - C
[ @Y S909 97 |

[ Short Answer Type Questions ]

26. (i) 39 UOEE H IUPAC A9 faRae st Seam simwee Sl a1 Muaes 3T 2
(i) Fr=faRad @ &g geed & Sed w9 § fafeu -

Ce¢HsNH,, NH;, CoHsNH,, (CoHg), NH
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(21) 1230/(Set : C)
(i) A wg fcaedE § faee & o g vaate we i 1

(i) Write the IUPAC name of the amide that gives propanamine by Hoffmann's

bromamide reaction.
(ii) Arrange the following in the increasing order of basic strength :
C¢HsNH,, NH;, CoHsNH,, (CoHs)o NH

(iii) Give one chemical test to distinguish between aniline and benzylamine.

ST

OR
(i) UGN #1 Pkb ARUAN & o § A 41 & & 7 1
(i) ST FAREE B 2-BNACESNHN § qRakig S 1
(iif) ST UHAT H T qaEd SHAl § St @l e § 7 1

(i) Pkb of aniline is more than that of methylamine, why ?

(ii) Convert Benzyl chloride into 2-phenylethanamine.

(iii) Why do primary amines have higher boiling point than tertiary amines ?
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27. IMMEC & ggm Hife H AR 7 99% ik Tf 89 § & @Ha 90% AR Tof 8\
T T a g9 9 g e ol 3

For the first order reaction show that the time required for 99% completion of

first order reaction is twice the time required for the completion of 90%.

28. faRad afad=t & 59 g fhar o g B ? 3
(i) wHE 9 Afafafees o
(i) I F TuA-1-3ifd

(iii) BHT F 2-AHBN

Convert :
(i) Phenol into Salicylic acid
(i) Propene into Propan-1-ol
(iij) Phenol into 2-Bromophenol
29. HiEdl g & WY T dgA AUESH T JEG Agd AEL Hl AT Al A @GR
M & P A § g 3

Explain the variation of molar conductivity of a strong electrolyte and weak

electrolyte with concentration through graph.
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30. HaThaT oMy fgid & oM W Fr=fafed Sudedds @ § oy @ UHia @ fE=
P : 3

() [Fe(CN)g]*

(i) [CoFg]*~

Discuss the nature of bonding in the following coordination entities on the basis

of Valence Bond Theory :
()  [Fe(CN)s]*

(ii) [CoFg]*~

e
OR

foreee &5 foures oot @41 B ? SUHEHAN o1 § d* Hehl A ardiad O A, & 99 &
MR ) %9 Faig fhar s & ? 3

What is crystal field splitting energy ? How does the magnitude of A, decide the
actual configuration of d orbital in a coordination entity having d*

configuration.
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gue - §
SECTION - D
[ B9 AT IR B 997 |

[ Case Study Type Questions ]

[=ifrga s (31 q 32) 1 &ya% TGIT FAT T IqE A7 [T T FoA (i-iii) F FAC
gy

Study the following cases (31 & 32) carefully and answer the questions (i-iii) that
follow :

31. JIUCHY Ol & W § 9 Rl a9 9] o ST gisdl a9 89§ fadas @ yae
a1 faaas @ faaee & faaee & Yo B IUERe del Sl 31 TUER & SEhH @ & Ud

8 UER & AHR 7 Th o9 IS AHT THH bl ol S & AU @Rl & Ao arel f
HIIET Il 31 FOR a8 STRReT & Y HCL ¥ S/&T A Sl 81 el HBIk TaxeT
F IAA & I& T S H Y& o § q° T S H TR a1 I F @ A 3| HS
TG U S ST B ST A @1 S & 98 G SN & 9 THb A U H @M ga e
S B ST &1 TR ® A & [ e R AR & I Sl & e e
W FBd & A GET A G AF a9 A A, Q@ G WER S 9REe g% @
ST 21

3T

() IR =9 SRR BRER B 0.9% (SN /AEW) a0 Giiedd FREe fFaad & @ &, @
HIAERT BT T B ? 1
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(i) =T foort & @ fopeem RERET a9 o1 B 1M eREW FNES oFar 1M IRaT ? 1

(iii) SfTH TUERET 1 R ? U TE-ureT el B A qaisd S 39 uRgedr ¥ W H
e ST 2 2

YqT

TR Tl g foe @ Ao} seme 39§ Y 9§ 7 2

The spontaneous flow of the solvent through a semipermeable membrane from a
pure solvent to a solution or from a dilute solution to a concentrated solution is
called as osmosis. The phenomenon of osmosis can be demonstrated by taking

two eggs of the same size. In an egg the membrane below the shell and around

the egg material is semipermeable. The outer hard shell can be removed by
putting the egg in dilute hydrochloric acid. After removing the hard shell, one
egg is placed in distilled water and the other in a saturated salt solution. After
some time, the egg placed in distilled water swells up while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is termed as
osmotic pressure. Reverse osmosis takes place when the applied external

pressure becomes larger than the osmotic pressure.

Questions :

(i) What happens when RBC's are placed in 0.9% NaCl solution ?
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(i) Which one of the following has higher osmotic pressure : 1M KCl or 1 M

Urea ?

(ii) What is Reverse Osmosis ? Name one SPM which can be used in this

reverse osmosis.
OR

How the molecular mass of substance can be determined by the method

based on measurement of osmotic pressure ?

32. AMUDNEE A FEEEST & PMH AR ARE T ARD ¥ o ergafed el fFar s g
TR & AR W, A, TEEE ARl SlfraaiEs al FEeEge o N S|

e ¥ AMIADUES B A W I I AT A Bkl 8| IEEnY - G, Ao, e
el UferdaiEe 9 oUHed W oTdis e ¥ AMESEe SHEAl 3 3 NEd S&sll
e e &l

797

(i) ST TEY FH F AM B, SN & ANIABUZS HEAT Bl Sed § 7 1
(i) -9 SEEBUZS Dad SigeA J AT S B, Wy wel F T ? 1
(iii) oD *HE Hl E@Y HEA gAY 2

1230/(Set : C)



(27) 1230/(Set : C)

YqT

TSRS FT 2 ? 98 We 4 59 geR e R ? 2

Monosaccharides are simple carbohydrates that can't be broken further into
smaller units on hydrolysis. For example Glucose, Fructose Ribose etc. Oligo-
saccharides are the carbohydrates which on hydrolysis give two to ten units of
monosaccharides eg. Sucrose, Maltose, Lactose etc. Polysaccharides produce

large number of monosaccharides units on hydrolysis eg. starch cellulose.

Questions :

(i) Name the linkage that holds the two units in the disaccharide.
(i) Which disaccharide is found only in animals, not in plants ?
(iii) Draw Haworth projection of a-D Glucose.
OR
What is Glycogen ? How it is different from Starch ?
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gee - g
SECTION — E
[ & ST 999 |

[ Long Answer Type Questions ]

33. & FEME AN NFH T CoH, 0O &, 2, 4-DNP FA ST 81 S HAHEHHS Bl
AR FIA & T DG SRR A ©1 FeA @S W dE 1, 2-awi
ST3-FIEITRIcTS ST ST &l AR I Jeagl 6B [UPAC M [ siffsear 3 g
B gt |+ et FEeEmen S g 5

An organic compound with molecular formula CqH;,O forms 2, 4-DNP. Derivative

reduces Tollen's reagent and undergoes Cannizaro reaction. On vigorous

oxidation, it gives 1, 2 benzene dicarboxylic acid. Identify the organic compound.

Write its IUPAC name. Write all chemical equations involved in reaction.

HYAT
OR
(i) = IR % SIE & GXET Ry 1
CH,4 —CECH;QQTQ(;>
(i) CEFINOA AT S AT a9y ’
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(iv)

)

(@

(i)

(iii)

(iv)

)

(29) 1230/(Set : C)
qiEEeEe § A NH, @98 8d 8, W] #9d & NH, T8 8 du@meeE &wed §
JgE Bl ©, O ;i ? 1

frr=ifeiaa Afet & HoN 3 ufg affhaeiiadr & seq #9 § Zafed Fik : 1

YEiefeess, RN, TrgdEs-Sfea HieN
TSt o W T e fewe o 1

Write the structure of product of the following reaction :

ng+
CH,-C=CH—29__,
HpS0O4

Draw the structure of : Cyclo-propanone Oxime.

There are two NH, groups in Semicarbazide, but only one is involved in

semicarbazone formation, why ?

Arrange the following compounds in the increasing order of reactivity

towards HCN :

Acetaldehyde, Acetone, Ditertbutyl Ketone.

Write a short note on 'Aldol Condensation'.
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34. (i) f=fafad a0 H 298 K W A& FHIHT Iy T emf ST S - 3
Mg (s) [Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)

E];[92+|Mg =-2.37V

El 2+ ¢, = 0.34V

(i) el facre &1 e aga & 9@ @ gl § 7 2

(i) Write the Nernst equation and calculate the emf of the following cell at

298 K:

Mg (s) |[Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)

EMg2+|Mg =-2.37V

El 2+ ¢, = 0.34V

(i) Why does the conductivity of a solution decreases with dilution.

e

OR

(i) Frfarga SfR o e 9 &1 AM® O 9 IR S e & g
A,G° @l TUAT Al BN : 3
2Cr(s)+ 3Cd?* (ag) — 2Cr3* (ag)+ 3Cd(s)

Ecr3+|cr = _0.74 V

Eo

Ca2+|cq= —0-40V
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(i) FIATSY H T 1R ? ZH IIAET IGK W FHY 2

(i) Calculate the standard cell potential of galvanic cell in which the following

reaction takes place. Also calculate the value of A,G" of the reaction :

2Cr(s)+ 3Cd?** (ag) — 2Cr3* (ag)+ 3Cd(s)
ECr3+|Cr =-0.74V

Eo

Ca2+|cq= —0-40V

(ii)) Define Kohlrausch's law by taking suitable example.

35. (i) EHAT Agel H HOH AW & A IeF H ol © ¢ 1
(i) EHAY o1 H IeaqH SATFHIBIT IR Sage! d JaRIA Fi Bkl o 7 1
(ili) HHEE W6 § K,CrO, ® S9N & a4 [ W& 1 Sw@ Hivw| 3

(i) Why transition elements have the high enthalpy of atomization ?
(i) Why highest oxidation state is exhibited in oxoanions of a metal ?

(iii) Indicate the steps in the preparation of K,Cr,O; from the chromite ore.

3TeE
OR

(i) oFAE qCREM WM, SifRilas ofd | STBRal &9 Hal & ¢ 39 SIfuke & fau
I+ FHIHT feiy 1
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(i) HR & W E° (M2 | M) & 99 &-1TE (0.34 V) 8, 3% qniad Her 1 & 7?1

(i) FrfoRed & d@ed & oOFEE U@ URRAEe & TERM @ O Sodeive 9w,
STl STt T GHYE T SN TR | Y| 3

(i) How does acidified permanganate solution react with oxalic acid ? Write

ionic equation for this reaction.
(i) Why E°(M 2+ | M) value of copper is the positive value (0.34 V) ?

(il Compare Lanthanoids and Actinoids with special reference to electronic

configuration, oxidation state and atomic and ionic size.
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o FUCYRTHE F FaRkET 2 o e T& Al o savamagar & fhid st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETE Tl AT To FoT-TH T Haeq [i@ W To F HARFT FIT-YH G T FE A T
ford oife dmloues o7t & I GT e FEIT FT R T )
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % T 37 @ {4 IF GAlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
G § 25 4 @ w@hwre Tl A aam
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

A R
(i) Fo7-7F & Z7T 35 797 &1
(@) T geT Sad &
(iii) T F97-YF YT @Us & [FfT & : gue-o], G-, GUe-q, GUE-3 T GUS-7)
(iv) GUE-9 ¥ SeTE (1-18) TEGITT J97 81 J9% H97 1 7% T &1
(v) @UE-F 7 GIT (19-25) FITg FTNT F97 &1 T9% F97 2 STl #T 81
(vi) GE-F 7 i (26-30) TJ FTOT Fo7 &1 F9% F97 3 ST F 81
(vii) GUE-§ 7 & (31 732) HF TeFTT HHX & F97 &/ FAF 97 4 SF # &1
(viii) GUE-F & 7 (33-35) &7 FTHT 797 81 q9F F97 5 3H H 8

1230/(Set : D)



(3) 1230/(Set : D)
(ix) 797 97 § &5 777 &7 @ 3 [acy 78 &1 7oy que-g 7 § g97 5, @ve-g 7 q
g7l 8 gue-g § gt 997 (31 732) 7 77 §Ue-F 7 it g9 7 orak® fwey Ry

7T 81 57 @ F9H F @ S9H BT §F & FIT FHCA &1

(x) S7F TA% F AT T 8

General Instructions :
(i) There are 35 questions in all.
(i) All questions are compulsory.
(iii) This question paper is divided into five Sections : A, B, C, D and E.

(iv) Section-A consist of eighteen (1-18) objective type questions, each of

1 mark.

(v) Section-B consist of seven (19-25) very short answer type questions, each of

2 marks.

(vi)) Section-C consist of five (26-30) short answer type questions, each of

3 marks.

(vii) Section-D consist of two (31 & 32) case study type questions, each of

4 marks.

(viii) Section-E consist of three (33-35) long answer type questions, each of

5 marks.

1230/(Set : D) P.T.O.



(4) 1230/(Set : D)

(ix) There is no overall choice. However an internal choice has been provided in
Section-B two questions, Section-C two questions, Section-D both questions

and Section-E all three questions. You have to attempt only one of the given

choices in such questions.

(x) Use of calculator is not permitted.

qug - I

SECTION-A

[ TS 9 |

[ Objective Type Questions ]

=T SglamediT g9 % @8l [dwey gy -

Select the correct option of the following multiple choice questions :

1. 0.01 M TN foer@T &l e § 0.01 M MgCly facia o1 fedies &l Sfaa : 1
(A) T S T
(B) ST EM
(C) N o B
(D) ¥R IO &R
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In comparison to a 0.01 M solution of glucose, the depression in the freezing

point of 0.01 M MgClL solution is :
(A) remains same

(B) about twice

(C) about three times

(D) about four times

2. JAMFRAT A + 2B — C % [T, a7 = K[A] [B] &1 B & Q& YA &1 T 71 [A] &I @igan

AN @M W, a7 s 9 & 99| 98T ¢ 1
(A) TEN @
(B) I &M
(C) ¥R IO &R

(D) otEr @ S

Rate law for the reaction A + 2B — C is found to be Rate = K[A] [B].
Concentration of reactant B is doubled keeping the concentration of A constant,

the value of rate constant will be :
(A) the same

(B) doubled

(C) quadroupled

(D) halved
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3. WAYHIGE @ G HF-l SATFIIHTT Ty Bt ¥ 7

(A) +2 (B) +3
(C) +4 (D) +5
Which of the following oxidation state is common for all lanthanoids ?
(A) +2 (B) +3

(€) +4 (D) +5

4. IRFEHS S THiEN AR SolceeEs AN 9 Ufihar 78 el § ¢

(A) WIfegq BEZH AEHES

(B) fEd BRENIM
(C) I Hiegs™=
(D) e STfoeHS

The reagent which does not react with both acetone and benzaldehyde :
(A) NaHSOs

(B) Phenyl hydrazine

(C) Fehling solution

(D) Tollen's reagent

1230/(Set : D)



(7) 1230/(Set : D)
5. &0 ReXi (Ku) %1 AWM : 1

(A) TN FgA & Y FEdl ©

(B) T @+ & @Y 9 Bl &
(C) R e 8

(D) UeW @l & MY Hedl &

The value of Henry's constant Ki :

(A) Increases with increase in temperature

(B) Decreases with increase in temperature

(C) Remains constant

(D) First increases, then decreases

6. Fr=iiafad § @ HM-a1 B-99e faeiive saR i) dfed frar s ahar & 7 1
(A) e B:
(B) [ B.
(C) 4™ Be
(D) eI Biz
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Which of the following B-Group vitamin can be stored in our body ?
(A) Vitamin B:
(B) Vitamin B>
(C) Vitamin Be

(D) Vitamin B2

7. A T TF IgG ATESH A B GHE HE BT ¢, o 1
(A) Ege =0

(B) Ea > Eqm

(©) Eaq > Eag

(D) E&q = Eag

An electrochemical cell can behave like an electrolytic cell, when :
(A) Ecen=0

(B)  Ecenl > Eext

(C) Eext > Ecen

(D) Ecel = Eext
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8. 99 MuEd UHN, Egq ot & SATHBRAT HTH &, O BIF-§l 9 Mg Bl & 7 1
(A) NH; B) N
(C) H (D) CoHs

The gas evolved when methyl amine reacts with nitrous acid is :

(A) NHs (B) N,
€) H (D) CoHs
9. fhdl T & E. & TOMT 1 ST Gl © ¢ 1

(A) o ReRi® # AW T RER 0 ) G 1 &

(B) o Rei® & 9 & ST A9 IR &d H 9

(C) THUG & @ |
(D) IB® % U919 9

Activation energy of a chemical reaction can be determined by :
(A) determining the rate constant at standard temperature
(B) determining the rate constant at two temperatures

(C) determining probability of collision

(D) wusing catalyst
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10. 1 & @ &9 S erffhar weffa & #a ¥ ? 1

CHO
CH3

(A)

:

(B) CHO

o

(C) HCHO

(D) CH3;CHO

Cannizaro's reaction is not given by :

o O
CH>
0 (Do
(C) HCHO
(D) CHzCHO
11. & &0 91| § KMnO, WeREW STEieRs # fhad aRakid & & ? 1
(A) I B) IO~
(C) 103 (D) IO;

When alkaline KMnO, is treated with KI, iodide ion is oxidized to :
A I (B) IO
(€) 105 (D) 104
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12. fF=fofad & § 999 o1t orig @i 8 °? 1

(A) STE Tehied
(B) UEailedd~a
(C) Tid

Which of the following is most acidic ?
(A) Benzyl alcohol

(B) Cyclohexanol

(C) Phenol

(D) m-Chlorophenol

13. freed &9 faues CFSE &T<%@® [CoClg|*™ & fm 18,000 cm-! &, @ agwhad freeq
8 [CoCL, >~ & faw @/ &rm ? 1

(A) 18,000 cm!
(B) 16,000 cm!
(C) 8,000 cm!

(D) 20,000 cm™!
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The CFSE for octahedral [CoCl6]4_ is 18,000 cm-!. The CFSE for tetrahedral
[CoCl, >~ will be :

(A) 18,000 cm™!
(B) 16,000 cm™!
(C) 8,000 cm!

(D) 20,000 cm-!

14. IR () FRES H SURAfT § ged, saem d sAfbea & ot aan I & afe
Il 8, T8 AHfha ¢ 1

(A) SoFRMTEN faa STk
(B) SOSFREN UfcRema erffshan

(C) TRl Sfcreemds saffsean
(D) SRR ANt SAffshan

Toluene reacts with a halogen in the presence of iron (III) chloride giving ortho

and para halo compounds, the reaction is :
(A) Electrophillic elimination reaction

(B) Electrophillic substitution reaction

(C) Nucleophillic substitution reaction

(D) Nucleophillic addition reaction

1230/(Set : D)



(13) 1230/(Set : D)
797 G 15 T 18 3 fw @ #YT RU 70 & - W¥FGT [ A ] T T [ R |, FF7 & T8HT
715 179 T4 @i (A), (B), (C), (D) § & 797 %I §&l T g -

For Question Numbers 15 to 18 given below consists of two statements labelled as
Assertion [ A | and Reason [ R |. Read the statements and select the most appropriate

answer from the Codes (A), (B), (C), (D) :

15. I [A] : T9F Ao @8 & o Qfcsha oagst &l Faeish =1 TR & gedl @ ¢

RI> RBr > RCl> RF

HRO [R] : TR IS, TEped SMES, q91 UGhEd STHISEE & Faoish, THM S&H

i EEGIHET § AfE B Bl

s : 1

(A) [A] @ [R] af 9 & &R [R], [A] ¥ §& AR B

(B) [A] @ [R] &I G B, qAfhT [R], [A] & T& =ren -8t 2

(C) [A] 94 %, dfd [R] T &I

(D) [A] T B, QAT [R] T &I
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Assertion [A] : The boiling point of alkyl halides decreases in the order

RI> RBr > RCl > RF for same alkyl group.

Reason [R]: The boiling point of alkyl halide having chloride, bromide and
iodides are higher than that of the hydrocarbon of comparable

molecular mass.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].

(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

16. MY [A] : BHCSERS Th TG 17 B
PR [R] : $99 sp? THRT HET T BNl 8|
FE : 1
(A) [A] @ [R] @9 9 € SR [R], [A] ® €& &= Bl
(B) [A] @ [R] &I G B, qAfhT [R], [A] & T& =ren &t 2
(C) [A] 7 B, Al [R] T 2

(D) [A] TG &, QAfT [R] T B
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Assertion [A] : Formaldehyde is a planar molecule.

Reason [R] : It contains sp? hybridized carbon atom.

Code :

(A) Both [A] and [R] are true and [R] is the correct explanation of [A].

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

17. AHEE [A] : 19 NaCl & 91 & fH@mr Sar 8, @ &9 § 06 sfaq9e 3@ ol &l
HROT [R] : FFEl 919 & a7 &l 919 B9 e o BHie & fa-H & B
#T : ]
(A) [A] T [R] &FF G & AR [R], [A] # G @rEA B
(B) [A] @ [R] a1 G B, qAfhT [R], [A] & G& e -8t 2
(C) [A] & B, S [R] Td &I

(D) [A] TG &, QAfT [R] T B
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Assertion [A] : When NaCl is added to water, a depression in freezing point is

observed.

Reason [R] : The lowering of vapour pressure of a solution causes depression

in the freezing point.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

18. IRMHYA [A] : MXe T MXsL §F S8 X T L ThEqR forre &, sde aHegaar et
ERURY

HROT [R] : SMHCE TEEFGAm 39 AMER § el G Sl STl Suaesde §& 6 3
#T : ]
(A) [A] @ [R] a1 @@ § X [R], [A] & @& &meET B

(B) [A] @ [R] a1 G B, qAfhT [R], [A] & G& =ren &t 2

(C) [A] & B, S [R] Td &I

(D) [A] TG &, qAfT [R] T B
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Assertion [A] : Complexes of MXs and MXsL type [X and L are unidentate] do

not show geometrical isomerism.

Reason [R] : Geometrical isomerism is not shown by the complexes of

coordination number 6.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

s - §
SECTION - B

[ SAfereTg ST 99 |

[ Very Short Answer Type Questions ]

19. =i Befom AR & ol d HF-|1 AR6 SN2 Af¥fan diaar & am ? 2
CHj
()  CHsCH,CH-CH; Ol CHj- % - Br
Br CH3
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(i) CH,- CH-CH,-CH,Br &¥al CH,-CH,- CH-CH,Br
| |
CH, CH,
Which alkyl halide from the following pair would you expect to react more

rapidly by SN 2 mechanism ?

CH;
|
() CHCH,CH~CHj or CHy=C - Br
Br CH3

(i) CHj; - (llH -CH, -CH,Br or CH;-CH, - ICH - CH, Br
CH, CH,

20. WEN & TE T (agiiBeer & 1 T9 Biel © 7 2

What is the effect of denaturation on the structure of proteins ?

21. R — P ik & forw oif¥eres & @igdr 0.03 M @ 25 fiFe § gRafdd 2t 0.02 M &
St 31 SfEd A oM e gaE H it 2

For the reaction R — P the concentration of a reactant changes from 0.03 M to
0.02 M in 25 minutes. Calculate the average rate of reaction using units of time

in minutes.
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SO,Cl, % T URFE A0 & et A= # AR 8 § 60 e &1 @ @ o A
HAIRAT 9F I &l 2, a1 a7 ReRiew &l T it 2

Time required to decompose SO,Cl, to half of its initial amount is 60 minutes. If
the decomposition is a first order reaction, then calculate the rate constant of

the reaction.

22. = gl % [UPAC M fdf@T : 2

(i) K3[Fe(Cy04)3]

Write the IUPAC name of the following coordination compounds :
(i) [Co(NHj3)5CO3]Cl

(i) K3[Fe(Cy04)3]

23. 1 A B, 9 ¢ 2
(2) g 3o H AR H AR s i A difsaw & &t § 7

(b) TR FAONES H AR Tiig KOH § &t 8 7
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What happens, when :

(@) Methyl bromide is treated with sodium in the presence of dry ether ?

(b) Ethyl chloride is treated with aqueous KOH ?

24. THEEC % 3= a0d § 31 OH T 34 Soderhl URae & Sid & @b &
g7 2

Explain how does OH group attached to a carbon of benzene ring activate it

towards electrophillic substitution reaction.

e
OR
i sAftisharetl | I &l 1 STgHH sy 2
OCyHs
(i) + HBr —

(11) (CHs)SC_OCQHS + HI—

Estimate the products obtained from the following reactions :

OC2Hs
(i) + HBr —

(11) (CHs)SC_OCQHS +HI—
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25.

26.

27.

(21) 1230/(Set : D)
et otfefser § A @ B @) g 4 ¢ 2

NaNOo + HCl

Fe /| HCI
CeHsNO, —F¢/ A —

Give the structure of A and B in the following reaction :

Fe [ HCI A NaNO9 +HCI

CeHsNO, 73K

gE - g
SECTION - C
[ @Y S909 97 |

[ Short Answer Type Questions ]

HiEd e % 1Y Y99 Jgd STUHed J¢l §a Jgd TIHed H A Ahdl § 1 gRad|
M & P A g 3

Explain the variation of molar conductivity of a strong electrolyte and weak

electrolyte with concentration through graph.

foreed & foures oot @1 B ? SUHEHde™ oA § d* Sl H ardiad O A, ® 99 @
MR W %9 eaig e i & 7 3

What is crystal field splitting energy ? How does the magnitude of A, decide the

actual configuration of d orbital in a coordination entity having d* configuration.
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ST

OR
i ey sid & HER W F=ioiad Sudeeds a1 # M"Y & Upid & fade
I 3
(i) [Fe(CN)s]*
(ii) [CoFg]*~

Discuss the nature of bonding in the following coordination entities on the basis

of Valence Bond Theory :
()  [Fe(CN)s]*

(ii) [CoFg]>~

28. f=fafed aRadi I f6d SR B o dedr & 2 3
(i) SUF-2-3{fd § JuE-2-3i1
(i) W | S
(i) BHIT § S
Convert :
(i) Propan-2-ol into Propan-2-one
(ii) Phenol into Benzoquinone

(iii) Phenol into Benzene
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29. (i) UG % Pkb ARUAN & g 7 1 T Bl © 1
(i) ST FAREE B 2-BNACNHN § qRakia S 1
(i) Srafes AT #1 FEeEiE gares QAT o ST Y Bl § 7 1

(i) Pkb of aniline is more than that of methylamine, why ?
(ii) Convert Benzyl chloride into 2-phenylethanamine.

(il Why do primary amines have higher boiling point than tertiary amines ?

YqT
OR

(i) S UAEE H IUPAC 9 [RIT S SIEAM SNEAES SIBhar & WueEe &t ot 1

(ii) frfaRad @ &g T9@ & Sed H9 H AR : 1
C¢HsNH,, NHy, CoHsNH,, (CoHs), NH
(il) U TG SFugE ¥ f[a9E % [0 g% TaEEs qaeeT i) 1

(i) Write the IUPAC name of the amide that gives propanamine by Hoffmann's

bromamide reaction.

(ii) Arrange the following in the increasing order of basic strength :

C¢HsNH,, NH;, CoHsNH,, (CoHs)o NH
(iii) Give one chemical test to distinguish between aniline and benzylamine.
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30. axMizy % yem Hife & AR & 99% kT Qo 89 § & THI 90% FARMRAT qof BN
T T A g9 9 G e ol 3

For the first order reaction show that the time required for 99% completion of

first order reaction is twice the time required for the completion of 90%.

gue - §
SECTION-D

[ 9 I THR B 999 |

[ Case Study Type Questions ]

fr=ifréa &6l (31 q 32) & &FYEH TEATT HIT T IFE A RY T JoA (i-iii) F TV
o

Study the following cases (31 & 32) carefully and answer the questions (i-iii) that
follow :

31. ANYDEE a1 FEEREIT & PH AR ARE T ARH ¥ o ergafeq T fFar s g
SEETT & AR W qHE, FeN, (A Akl Siiie]Es af HEeEge & Nd o
AT § ARUES B A ¥ I T IHEA A Bl T S - G, A, e
| JferdidNgs ST oTuEes WX STEfe e ¥ AMORAEe TRl 3 & Rd SEei
®rH agend &l
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J97
(i) S TEY H FA AW T, A & ANYDAZS SHEA B oedr 8 7 1
(i) BT SHHBUZS dad gl § AT A &, Weg b F TE ? 1
(iii) o-D *IHE Hl B@E HEA gAY 2
ST
RPN T & ¢ I8 WY o by Yh e ' 7 2

Monosaccharides are simple carbohydrates that can't be broken further into

smaller units on hydrolysis. For example Glucose, Fructose Ribose etc. Oligo-

saccharides are the carbohydrates which on hydrolysis give two to ten units of
monosaccharides eg. Sucrose, Maltose, Lactose etc. Polysaccharides produce

large number of monosaccharides units on hydrolysis eg. starch cellulose.
Questions :

(i) Name the linkage that holds the two units in the disaccharide.

(i) Which disaccharide is found only in animals, not in plants ?

(ii) Draw Haworth projection of a-D Glucose.
OR
What is Glycogen ? How it is different from Starch ?

1230/(Set : D) P.T.O.



(26) 1230/(Set : D)

32. FHUT il & A § HH HiEdl 9@ 09§ I Hisdl 99 9 J oo & e

repar facree | foae | e & Jare @ QR Bl S ol UNEel & WA & A &

8 THR & AR F Th oF oS ddx THE b &l oS & el SR & A arl {3l

HIIET il 31 FOR a8 SRRl & O HCL ¥ S/sT SaIT S 81 el Helk TaxeT

P IRA F a6 T S B IE 9 § T TR IS H THG a1 Wl A @ A o1 FB

T 9LA S ST B S § TN Sl § a8 G Sl § T A g o @ e e

S B ST &1 TR ® A B [ e R AR & T S & S e

W FBd & A ET A G AE a9 A A, Q@ G WERer S uREge g% @
STt 31

337 :

() IR A SRR FRE B 0.9% (FFHF/AHT) a1 AedH FKEe foeed & @ &, o
BT I T BT ? 1

(i) =T foora & @ fopeen TRERET a9 o1 B 1M MeREE FNES oFar 1M IRar ? 1

(iii) S JUERET 1 T ? U SAY-UTY R B AW qase S 39 gigedr § yaer §
SIERSIG I 2

YqT

R T [y g foe @ AieX seme 39§ R 9 § 7 2
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The spontaneous flow of the solvent through a semipermeable membrane from a
pure solvent to a solution or from a dilute solution to a concentrated solution is
called as osmosis. The phenomenon of osmosis can be demonstrated by taking
two eggs of the same size. In an egg the membrane below the shell and around
the egg material is semipermeable. The outer hard shell can be removed by
putting the egg in dilute hydrochloric acid. After removing the hard shell, one
egg is placed in distilled water and the other in a saturated salt solution. After
some time, the egg placed in distilled water swells up while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is termed as
osmotic pressure. Reverse osmosis takes place when the applied external

pressure becomes larger than the osmotic pressure.

Questions :

(i) What happens when RBC's are placed in 0.9% NaCl solution ?

(i) Which one of the following has higher osmotic pressure : 1M KCl or 1 M

Urea ?

(ii) What is Reverse Osmosis ? Name one SPM which can be used in this

reverse osmosis.
OR

How the molecular mass of substance can be determined by the method

based on measurement of osmotic pressure ?
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@)

(i)

(iii)

@

(i)

(i)

@

(28) 1230/(Set : D)
goE - g
SECTION - E
[ € Sl 999 ]

[ Long Answer Type Questions ]

T MR WHTMe, oiffdfes o § oififhw 39 &xar & ? 39 oifvfear & forg
STAE THIHOT [RaY| 1

HW & M E° (M2 | M) F 99 99196 (0.34 V) &, 50 G9ifad ®RoT & ¢ 1

frefafad & e § oFdegs T Ufdedigs & e & QAT Sodeitie (O,
SR STRAT JAT THT T S B F B 3

How does acidified permanganate solution react with oxalic acid ? Write

ionic equation for this reaction.
Why E"(M2+ | M) value of copper is the positive value (0.34 V) ?

Compare Lanthanoids and Actinoids with special reference to electronic

configuration, oxidation state and atomic and ionic size.

YqT

OR

HHAOT OIS &l FOF A b A I= FT 8 § 7 1
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(i) EBAYT OTg B IoaaH SHFAHT STl SfEel ¥ R #&f el 5 7 1

(ili) HHEE W6 § K,Cr0O, F MM & MU [ & @1 Sw@ i 3
(i) Why transition elements have the high enthalpy of atomization ?
(i) Why highest oxidation state is exhibited in oxoanions of a metal ?

(iii) Indicate the steps in the preparation of K,Cr,O; from the chromite ore.

34. () = ATGFT & IR H G&E [T ¢ 1

H92+
CH,-C=CH—29
HpSO4

(i) CTEFAENNAN SR & G SR 1

(i) SHFEEES § A NH, ¥ B ©, Wg dad W NH, &9 & aiidmee e §
g B 8, TE A ¢ 1

(iv) frfafad it & HCN & gt afrsiicr & Sed w9 § afed Hiv 1

YEiefeess, AN, TrgdEs-Sfea #eN
(v) U@ Go WX U G fewel ford) 1
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(i) Write the structure of product of the following reaction :

(i) Draw the structure of : Cyclo-propanone Oxime.
(iii) There are two NH, groups in Semicarbazide, but only one is involved in
semicarbazone formation, why ?

(iv) Arrange the following compounds in the increasing order of reactivity

towards HCN :

Acetaldehyde, Acetone, Ditertbutyl Ketone.

(v) Write a short note on 'Aldol Condensation'.

STeET

OR

T FEME ANH SEH T[T CoH1O 8, 2, 4-DNP G~ AT 81 o STBHS Bl
AR H & T DGR ANRENT A B JEW SFIET W g8 1, 2-dwid
SE-FISlFdTh =T S 81 Al B TeeTl 3R IUPAC M fofaw sifdiean & g
BIF areil g9l e FHienen B 5
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An organic compound with molecular formula CqH;yO forms 2, 4-DNP. Derivative
reduces Tollen's reagent and wundergoes Cannizaro reaction. On vigorous
oxidation, it gives 1, 2 benzene dicarboxylic acid. Identify the organic compound.

Write its IUPAC name. Write all chemical equations involved in reaction.

35. (i) fr=ifciad Iffhar o Y a9 &1 AW% 9 [awa uiteiad s situier & g
A,G° & TOFET |l HINT 3
2Cr(s)+ 3Cd?* (aq) — 2Cr3*(ag) + 3Cd(s)
E¢ 3+, =—0.74V
Eg

42+ = ~0-40V

(i) PIACSYT BT T T & ? T IR IHT T FH 2

(i) Calculate the standard cell potential of galvanic cell in which the following

reaction takes place. Also calculate the value of A,G° of the reaction :
2Cr(s)+ 3Cd?** (aq) — 2Cr3* (ag)+ 3Cd(s)
ECr3+|Cr =-0.74V

Eo

Ca2+|cq= —0-40V

(ii)) Define Kohlrausch's law by taking suitable example.
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(i) Ffofed @ & 298 K W A& FHIBT iy T emf ST S - 3

Mg (s) |[Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)
E];[92+|Mg =-2.37V

ECu2+|Cu =0.34V

(i) el facr &1 ST qgq ® A @ gl § 7 2

(i) Write the Nernst equation and calculate the emf of the following cell at

298 K :

Mg (s) [Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)
E];[92+|Mg =-2.37V

El 2+ ¢, = 0.34V

(i) Why does the conductivity of a solution decreases with dilution.

1230/(Set : D)



